


NUMBER SYSTeEM
( No. of Trailing Zero )

NO. OF QUESTIONS MAXIMUM DAYS CLASS DURATION

10 Questions 1 DAY 2 HOURS



CONCEPT

Question. What is Trailing Zero ??
Ans : No of Zeros at the end of Number or

power of 10.
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Example find the trailing zero in
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CONCEPT

No. of Trailing Zero

8 pair of (2*5).

No of trailing zero generated from th

Example: 15%12 = 5x3 * 2x2x3 (Having Only 1 Pair of 2*5)
Hence there is Only 1 Trailing Zero
in the result of 15*12 (i.e, 180) N (,D->
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CLASS EXERCISE

Q) : Find the no. of trailing zero in :
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CLASS EXERCISE

Q) : Find the no. of trailing zero in :




CLASS EXERCISE

Q) : Find the no. of trailing zero in :
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Q) : Find the no. of trailing zero in :

) 65x1250 x128 x39x 73 x56
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CLASS EXERCISE

Q) : Find the no. of trailing zero in :

) 65x1250 x128 x 39 x 73 x 56
) 65x24x75x28 x35x 34
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Q) : Find the no. of trailing zero in :

1) 65x1250 x 128 x39 x 73 x 56 /
I1) 65 x 24 » 28x35x34
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CLASS EXERCISE

Q: Find the number of Zeros —
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(A) 222 // (C) 777

(B) 555 (D) 333


















How to find Maximum Power of Prime No. in Any Factorial




CLASS EXERCISE
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Q) : Find the Maximum Power of 3 t\} A\ L 3K ¢ X K X
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Q) : Find the Largest Power o
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CLASS EXERCISE
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CLASS EXERCISE
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Q : Find trailing zero at the end o
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i) 12 ii)14/ iii) 8




CLASS EXERCISE

Q : Find trailing zero at the end of 100! ? (Imp)

i) 20 ii)iy iii) 28 iv) none of these
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